5 7 18
( )-1 -1
()-1
4,730, 000 13,300 /
1
(1) 5 7 1 |(4 5 7 13 (61 5 ] !
11
(2 5 6 15 (5)
(3)
2
(1) 356
()] (
()
( 70, 200 )
11 6m ( )
2 3. 2km
(2 40 80 40 10
20 18 360
()
3. 2km (70, 200)
(3 (4) +4.0
5 13,300 |
/
/
/
(6)
(7
(8 ] - 0.0 3.0
0.0 0.0
-1 (1) 0.0 +22.0
[ 100.0]| 100 100 |[ 104.0] 15 300 +(2)'8 8‘8
15,400 | 100 |[ 102.0]|[ 118.3]| 100 ' 0.0 '
(9
Cr)
[ 1| 100 100 | ]
/ 100 | i 1 100
(10 -1
- ]
13,300 /
-2
] (|
/
0.0 |




5 7 18
( )-2 -1
()-2
6, 720, 000 8,420 /
1
(1) 5 7 1 |(4 5 7 13 (61 5 ] !
1.1
(2) 5 6 15 [(5)
(3)
2
(1) 798
()]«
()
( 60, 100 )
7m ( )
1:1.2 2 3. 2km
(2) 50 20 80 80
25 30 750
()
3. 2km +( 60, 100)
(3 (4) +2.0
0.0
5 8,420 |/
/
/
/
(6)
(7
(8 O = 0.0 3.9
0.0 0.0
-2 (1) 0.0 -2.0
[ 99.7]| 100 100 |[ 102.0] 8 200 8'8 8‘8
7,690 / 100 |[100.0]|[ 94.2 ]| 100 ’ 0.0 '
(9 0.0 -1.0
0.0 +0.8
( )-2 ( 1) 0.0 +20.0
[ 100.0]| 100 100 |[ 102.0] 8 270 +g'8 8‘8
10,100 / 100 |[ 104.0]|[ 119.8]| 100 : 0.0 '
(10) -1
- ]
8,440 |
-2
1 1
/
-0.2 |




